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RAN-0037
S.Y.B.Com. (External) Examination

March / April - 2019

Advance Accounting & Auditing-II

k|Q“p : / Instructions

“uQ¡ v$ip®h¡g  r“ip“uhpmu rhNsp¡ DÑfhlu ‘f Ahíe gMhu.
Fill up strictly the details of  signs on your answer book

Name of the Examination:

 S.Y.B.Com. (External)

Name of the Subject :

 Advance Accounting & Auditing-II

Subject Code No.: 0 0 3 7

Seat No.:

Student’s Signature

1.		  “uQ¡“p âï“p¡“p„ S>hpb Ap‘p¡.	 18

	 1)	 l¡“u rg.“u 31.03.18 “p„ fp¡S>“u bpL$uAp¡ “uQ¡ dyS>b R>¡. 				 
		  ê$p. 

		  C.i¡fd|X$u (v$f¡L$ ê$p. 10 “p„ ê$p. 8 (cf‘pC)	 2,00,000

		  kpdpÞe A“pds	 2,00,000

		  “ap “yL$kp“ Mpsy	 1,00,000

		  W$fphhpdp„ Apìey„ L¡$ L„$‘“u ^pfp“u Å¡NhpC dyS>b 5 i¡f“p„ bv$gpdp„ A¡L$ i¡f v$f¡L$  
ê$p. 10 “p¡ 25% âurded¡ bp¡“k i¡f sfuL¡$ Ap‘hp. bp¡“k i¡f A„N¡ Apd“p¢^ gMp¡.

	 2)	 qX$b¢Qf lp¡ëX$fp¡“¡ Q|L$ìep ‘R>u rg[¼hX¡$V$f ‘pk¡ ê$p. 1,29,030 fp¡L$X$  rkgL$ R>¡. rb“ 
kgpds g¡Zv$pfp¡ ê$p. 1,65,000 “p„ R>¡. rg[¼hX¡$V$f“¡ rb“ kgpds g¡Zv$pfp¡“¡ Q|L$h¡g 
fL$d ‘f 2% g¡M¡ dl¡“spÏ Ap‘hp“y„ R>¡. rg[¼hX¡$V$f“y„ dl¡“spÏ„ A“¡ rb“ kgpds 
g¡Zv$pf“¡ Q|L$h¡g fL$d NZp¡.

	 3)	 qX$f¡¼V$fp¡A¡ s¡d“u g¡Zu fL$d“p„ 65% fL$d C[¼hV$u i¡fp¡dp„ A“¡ 20% fL$d fp¡L$X$dp„ 
õhuL$pfu A“¡ bpL$u“u ê$p. 26,250 s¡Ap¡A¡ S>su L$fu R>¡. d|X$u OV$pX$p A„N¡ Apd“p¢^ 
gMp¡.
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	 4)	 X rg. s¡“p„ 1,000, 12% “p„ qfX$ud¡bg â¡afÞi i¡f (v$f¡L$ ê$p. 100 “p„ i¡f v$uW$  ê$p. 80 
cfpe¡g) 10% âurded¡ ‘fs L$f¡ R>¡. s¡d“p„ Qp¡‘X¡$ “uQ¡“u bpL$uAp¡ lsu.

		  Ådu“Nufu âurded	 ê$p. 2,000

		  b¢L$ rkgL$	 ê$p. 30,000

		  “ap “yL$kp“ Mpsy (S>dp)	 ê$p. 20,000

		  qX$f¡¼V$fp¡A¡ ê$p. 10 “p¡ A¡L$ A¡hp Ap¡R>pdp„ Ap¡R>p C[¼hV$u i¡fp¡ 10% âurded¡ blpf ‘pX$u 
â¡afÞi i¡fp¡ ‘fs L$ep®. i¡f blpf ‘pX$hp“u A„N¡“u Apd“p¢^ gMp¡.

	 5)	 bp¡“k i¡f“p„ DØ¡ip¡ S>Zphp¡.

	 6)	 L$pÞlp rg. “p„ sp.31.03.2018 “p„ L$pQp kfh¥epdp„’u “uQ¡“u rhNsp¡ g¡hpdp„ Aphu R>¡.

rhNs D^pf S>dp„

AphL$ h¡fp“u Å¡NhpC (1.04.17) - 20,000

ANpD’u Q|L$h¡g Ap.h¡fp¡ (1.04.17) 15,000 -

ANpD’u Q|L$h¡g Ap.h¡fp¡ (Qpgy hj£) 20,000 -

d|m õ’p“¡ L$p‘u gu^¡g AphL$ h¡fp¡ 1,500 2,500

“ap “yL$kp“ Mpsy (1.04.17) - 30,000

		  Nep hj£ 2016-17 “u ApL$pfZu Qpgy hj£ ‘|fu ’C lsu. A“¡ AphL$h¡fp“u  
S>hpbv$pfu ê$p. 22,000 “½$u L$fhpdp„ Aphu. L„$‘“u“p¡ Qpgy hj®“p¡ “ap¡ ê$p. 50,000  
lsp¡ A“¡ L„$‘“u 50% g¡M¡ AphL$h¡fp¡ Q|L$h¡ R>¡. L„$‘“u^pfp¡, 2013 dyS>b “ap “yL$kp““y„  
‘ÓL$ A“¡ ‘pLy„$ kfh¥ey„ b“php¡.

2.		  sp.31.03.2018 “p„ fp¡S>“p„ l¡s rg. A“¡ râs rg.“p„ ‘pL$p kfh¥ep “uQ¡ dyS>b R>¡.	 15

rhNs “p¢^ l¡s rg. râs rg.

B[¼hV$u A“¡ v$¡hp :

(1) i¡f lp¡ëX$f“p„ c„X$p¡m :

(A) C.i¡f ê$p. 100 “p„ ‘|fp cf‘pC 
      6%“p„ â¡a.i¡f v$f¡L$ ê$p. 100“p„

5,00,000
2,50,000

2,50,000
-

(b) A“pds A“¡ h^pfp¡ :
      kpdpÞe  A“pds

- 60,000

L$pfuNf AL$õdps hmsf a„X$ - 40,000
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(2) rb“ Qpgy v$¡hp :

	 (A)gp„bp Npmp“p„ DR>u“p„ “pZp„

	 10% “p X$ub¢Qf 1,00,000 -

	 (b) AÞe gp„bp Npmp“p„ v$¡hp 
	 (b¢L$ gp¡“)

75,000 -

(3) 	Qpgy v$¡hp :

	 g¡Zv$pfp¡ 75,000 75,000

Ly$g 10,00,000 4,00,000

rdgL$sp¡ :

(1) 	rb“ Qpgy rdgL$sp¡ :

	 (A) L$pedu rdgL$s (Öíe)

	 S>du“-dL$p“
	 e„Óp¡

1,50,000
3,00,000

50,000
1,50,000

	 L$pedu rdgL$s (AÖíe) ‘pOX$u 50,000 -

	 (b) rb“ Qpgy fp¡L$pZp¡ 50,000 10,000

	 (ku) AÞe rb“ Qpgy rdgL$sp¡ “ap
	 “yL$kp“ Mpsy

75,000

(2) 	Qpgy rdgL$sp¡ :

	 (A) dpg kpdN°u - õV$p¡L$ 1,25,000 75,000

	 (b) h¡‘pfu g¡Zp„ - v$¡hpv$pfp¡ 1,50,000 1,00,000

	 (L$) fp¡L$X$ õhê$‘“u rdgL$s - fp¡L$X$ 85,000 15,000

	 (X$) AÞe Qpgy rdgL$sp¡ - 
		  âp’rdL$ MQ®

15,000 -

10,00,000 4,00,000

		  D‘fp¡¼s spfuM¡ b„“¡ L„$‘“uAp¡A¡ k„ep¡S>“ L$fu ê$p. 12,50,000 “u kÑphpf d|X$u kp’¡ 
ddsp rg. “pd“u “hu L„$‘“u õ’p‘hp“y„ “½$u L$ey¯ S>¡ ê$p. 100 “p¡ A¡L$ A¡hp 10,000 
C.i¡f A“¡ 2500 A“¡ 2500. 10% “p„ â¡a.i¡fdp„ hl¢Qpe¡g lsu. l¡s rg. “p„ fp¡L$pZp¡ 
A“¡ râs rg.“u ê$p. 5,000 “u fp¡L$X$ rkhpe“u rdgL$sp¡ A“¡ v$¡hp g¡hp. b„“¡ L„$‘“uAp¡“u 
L$pedu rdgL$sp¡“u bÅf qL„$ds Qp¡‘X¡$ qL„$ds L$fsp„ 20% h^y NZhu.
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		  Q|L$hZu“u ifsp¡:

	 (1)	 b„“¡ L„$‘“u“p„ ‘p„Q C[¼hV$u i¡f“p„ bv$gpdp„ ddsp rg. s¡“p 6 C.i¡f ‘|fp cfpe¡g NZu 
10% âurded¡ Ap‘hp.

	 (2)	 l¡s rg. “p„ ‘p„Q â¡a. i¡f“p„ bv$gpdp„ ddsp rg. “p„ Qpf â¡a.i¡f ‘|fp cfpe¡g s¡dS>  
ê$p. 25,000 fp¡L$X$p Ap‘hp.

	 (3)	 l¡s rg. “p„ qX$b¢Qf lp¡ëX$fp¡“¡ 8% âurded dmu fl¡ s¡ fus¡ ddsp rg. A¡ 12% “p„ 
qX$b¢Qf 10% hV$ph¡ Ap‘hp.

	 (4)	 l¡s rg. “¡ ê$p. 7,000 fp¡L$X$p Ap‘hp.

		  ddsp rg. A¡ ‘p¡sp“p„ bpL$u“p„ C.i¡f, i¡f v$uW$ ê$p. 20 “p„ âurded¡ Ål¡f S>“sp dpV¡$ 
blpf ‘pX$ép S>¡ ‘|fp cf‘pC ’ep. âp’rdL$ MQ® ê$p. 5,000 ’ep¡.

	           ddsp rg. “p„ Qp¡‘X¡$ Apd“p¢^ gMp¡. A“¡ L„$‘“u^pfp¡, 2013 dyS>b ‘pLy„$ kfh¥ey„  
		  s¥epf L$fp¡.

A’hp

2.		  cìe rg. A¡ sp.31.03.2018 “p„ fp¡S> ‘pOX$u A“¡ AÞe rdgL$sp¡ (fp¡L$pZp¡ rkhpe)  
gC g¡hp“y„ õhuL$pey®, s¡ spfuM¡ S>e rg. “y„ ‘pLy„$ kfh¥ey„ “uQ¡ dyS>b R>¡.	 15

rhNs “p¢^ ê$p.
(A) 	C[¼hV$u A“¡ v$¡hp :
	 (1) i¡f lp¡ëX$fp¡“p„ c„X$p¡m
	 (A)  C.i¡fd|X$u v$f¡L$ ê$p.10“p„ 1,20,000
	 (b)  A“pds h^pfp¡ :
	 kpdpÞe A“pds 18,750
	 “ap “yL$kp“ Mpsy 13,500
(2) 	rb“ Qpgy v$¡hp :
	 gpbp„ Npmp“p„ DR>u“p„ “pZp„ - 8% “p„ qX$b¢Qf 45,000
(3) 	Qpgy v$¡hp :
	 (A) h¡‘pfu v$¡hp : g¡Zv$pfp¡ 27,750
	 (b) V|„$L$p Npmp“u Å¡NhpC-L$fh¡fp“u Å¡NhpC 15,000
Ly$g 2,40,000
(b) 	rdgL$sp¡ :
	 (1) rb“ Qpgy rdgL$sp¡ :
	 (A) L$pedu rdgL$sp¡
	 (1) Öíe rdgL$s-S>du“-dL$p“ 60,000
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	 e„Óp¡ 60,000
	 (2) AÖíe rdgL$s-‘pOX$u 15,000
	 (b) rb“ Qpgy fp¡L$pZp¡-fp¡L$pZp¡ 22,500
(2) Qpgy rdgL$sp¡ :
	 (A) dpg kpdN°u - õV$p¡L$ 30,000
	 (b) h¡‘pfu g¡Zp„ - v$¡hpv$pfp¡ 37,500
	 (L$) fp¡L$X$ õhê$‘“u rdgL$sp¡ - b¢L$ rkgL$ 15,000

2,40,000

		  cìe rg. A¡ S>e rg.“¡ kdphu g¡hp“y„ “½$u L$ey¯. AÞe ifsp¡ : cìe rg.A¡-

		  (1)	S|>“p qX$b¢Qf 8% âurded¡ ‘fs L$fhp. 16%“p„ “hp qX$b¢Qf 10% hV$ph¡ Ap‘hp.

		  (2)	S>e rg. “p„ 2 C.i¡f“p„ bv$gpdp„ cìe rg.“p„ 3 C.i¡f ê$p. 11 “u bÅf qL„$ds  
	 Ap‘hp.

		  (3)	S>e rg.“p„ v$f¡L$ i¡f v$uW$ ê$p.2 fp¡L$X$p Ap‘hp.

		  (4)	kdph¡i MQ® ê$p.3,000 ’ep¡.

		  (5)	S>e rg.A¡ fp¡L$pZp¡ ê$p.24,000 dp„ h¡Ãep. cìe rg. ‘pk¡’u dm¡gp i¡f ‘¥L$u  
	 1/3 cpN“p„ i¡f v$f¡L$ ê$p.10.50 “p cph¡ h¡Ãep.

		  (6)	L$fh¡fp“u S>hpbv$pfu ê$p.18,000 “½$u ’C.

		  cìe gu. A¡ S>du“-dL$p““u qL„$ds 25% h^y Ap„L$u, e„Óp¡“u qL„$ds 20% Ap¡R>u Ap„L$u,  
õV$p¡L$“u qL„$ds ê$p.26,250 “½$u ’C s’p v$¡hpv$pfp¡ ‘f 5% “u Å¡NhpC L$fp¡.

		  S>e rg.“p„ Qp¡‘X¡$ -

		  (1)	dpg rdgL$s q“L$pg Mpsy.

		  (2)	b¢L$ Mpsy A“¡ (3) C[¼hV$u i¡f lp¡ëX$fp¡“y„ Mpsy s’p cìe rg.“p„ Qp¡‘X¡$ S>ê$fu  
Apd“p¢^ gMp¡.

3.		  sp.31.03.2018 “p„ fp¡S> ‘fdp“„v$ rg.“p„ Qp¡‘X$pdp„ “uQ¡“u bpL$uAp¡ v$ip®h¡g R>¡.	 20

D^pf bpL$u ê$p. S>dp bpL$u ê$p.

‘pOX$u 3,00,000 7%“p„ ¼eyçeyg¡qV$h â¡a.

S>du“-dL$p“ 14,40,000 i¡f ê$p.100“p„ ‘|. cf‘pC 12,00,000

àgpÞV$-e„Óp¡ 13,20,000 C[¼hV$u i¡f ê$p.10“p„ ‘|fp 
cf‘pC

24,00,000

fp¡L$pZp¡ 1,44,000
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Qpgy rdgL$sp¡ 20,64,000 8%“p„ qX$b¢Qk® 12,00,000

“ap “yL$kp“ Mpsy 10,20,000 qX$b¢Qf ‘f QY¡$$g ìepS> 48,000

qX$f¡¼V$f“u gp¡“ 2,40,000

Qpgy v$¡hp 12,00,000

62,88,000 62,88,000

		  “p¢^ : (1) L„$‘“u kpd¡ “yL$kp“u“p¡ v$php¡ L$p¡V®$dp„ ‘¡ÞX$]N R>¡ ê$p.1,20,000.

			   (2) â¡afÞi i¡f ‘f A¡L$ hj®“y„ qX$rhX$ÞX$ QY¡$g R>¡.

		  Av$pgs Üpfp d|X$u OV$pX$p“u “uQ¡“u ep¡S>“p d„S|>f L$fhpdp„ Aphu.

		  (1)	â¡afÞi i¡fd|X$u A“¡ C[¼hV$u i¡fd|X$u OV$pX$hu.

		  (2)	� â¡afÞk i¡f lp¡ëX$fp¡ A¡ s¡d“y„ AX$^y qX$rhX$ÞX$ S>sy L$fhy„ A“¡ bpL$u“u fL$d ‘¡V¡$ d|X$u  
OV$pX$p ‘R>u“p„ “hp ê$‘“p„ C[¼hV$u i¡f Ap‘hp.

		  (3)	�qX$b¢Qf lp¡ëX$fp¡A¡ ‘p¡sp“u g¡Zu fL$d“u A„is: Q|L$hZu ‘¡V¡$ ê$p.4,32,000 “u  
Qp¡‘X¡$ qL„$ds“p„ S>du“-dL$p“ ê$p.6,00,000 “u qL„$ds¡ g¡hp“y„ “½$u L$ey¯ R>¡. A“¡  
bpL$u“u fL$d ‘¡V¡$ ê$p.1,44,000 C.i¡f. i¡fv$uW$ “hu qL„$ds¡ g¡hp“y„ õhuL$pey¯.

		  (4)	 qX$b¢Qf lp¡ëX$fp¡A¡ QY¡$gy„ ìepS> S>sy L$ey¯.

		  (5)	� L„$‘“u kpd¡ “yL$kp“u“p¡ v$php¡ L$p¡V®$dp„ ‘¡ÞX$]N R>¡. s¡“u 14,400 C[¼hV$ui¡f, i¡fv$uW$  
“hu qL„$ds¡ Ap‘u ‘sphV$ L$fhpdp„ Aphu.

		  (6)	 qX$f¡¼V$fp¡“u gp¡““y„ cphp¡cph 96,000 C[¼hV$u i¡fdp„ ê$‘p„sf L$fhpdp„ Apìey„.  
	 (i¡fv$uW$ “hu qL„$ds’u)

		  (7)	sdpd AÖíe rdgL$s A“¡ “ap“yL$kp“ Mpsy dp„X$u hpmhy„.

		  (8)	 rdgL$sp¡“y„ “uQ¡ dyS>b ‘y“: d|ëep„L$“ L$ey¯.

			   àgpÞV$-e„Óp¡ ê$p.8,40,000, fp¡L$pZp¡ ê$p.1,20,000

		  (9)	d|X$u OV$pX$pMpsy b„^ L$fu“¡ s¡“u bpL$u d|X$u A“pds Mps¡ gC Nep“u Apd“p¢^  
	 “uQ¡ dyS>b v$ip®h¡gu lsu.

		  d|X$u OV$pX$p Mps¡ D 5,94,000

		  s¡ d|X$u A“pds Mps¡ 5,94,000

		  D‘fp¡¼s dprlsu ‘f’u L„$‘“u“p„ Qp¡‘X¡$ S>ê$fu Apd“p¢^ gMp¡ A“¡ d|X$u OV$pX$p ‘R>u“y„  
‘pLy$ kfh¥ey„ (L„$‘“u Opfp¡, 2013 dyS>b) s¥epf L$fp¡.		  

			                     A’hp
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3.		  fp¡i“ rg.“y„ sp.31.12.18 “p„ fp¡S>“y„ ‘pLy„$ kfh¥ey„ “uQ¡ dyS>b R>¡.	 20

rhNs “p¢^ ê$p.

A) C[¼hV$u A“¡ S>hpbv$pfuAp¡ :

1) i¡f lp¡ëX$f“p„ c„X$p¡m :

	 i¡fd|X$u :

	 12% “u â¡a-i¡fd|X$u 1,00,000

ê$p.50 “p¡ A¡L$ A¡hp 2,000 "A' C.i¡f ê$p.25 cf‘pC 50,000

ê$p.20“p¡ A¡L$ A¡hp 4,000 "B' C.i¡f ê$p.8 cf‘pC 32,000

ê$p.10“p¡ A¡L$ A¡hp 2,000 "C' C.i¡f ê$p.6 cf‘pC 12,000

2) rb“ Qpgy v$¡hp :

	 gp„bp Npmp“p„ DR>u“p„ “pZp„ : 12% “p„ qX$b¢Qf 1,50,000

3) 	Qpgy v$¡hp :

	 (A) h¡‘pfu v$¡hp : g¡Zv$pfp¡ (õV$p¡L$“p„ spfZ ‘f) 30,000

	 AÞe g¡Zv$pfp¡ 2,24,000

	 (b) AÞe Qpgy v$¡hp : qX$b¢Qf“y„ bpL$u ìepS> 9,000

Ly$g 6,07,000

b) rdgL$sp¡ :

1) rb“ Qpgy rdgL$sp¡ :

	 (A) L$pedu rdgL$s (Öíe) S>du“-dL$p“ 5,30,000

	 (b) AÞe rb“Qpgy rdgL$s : “ap “yL$kp“ Mpsy 27,500

2) Qpgy rdgL$sp¡ :

	 (A) dpg kpdN°u : õV$p¡L$ 22,000

	 (b) fp¡L$X$ õhê$‘“u rdgL$sp¡ : fp¡L$X$ 27,500

Ly$g 6,07,000

		  (1)	 rhkS>®“ MQ® ê$p.3,120.

		  (2)	 rg[¼hX¡$V$f“y„ dl¡“spÏ„ :

			   fp¡L$X$ rkhpe“u rdgL$s“u D‘S> ‘f 1/5%

			   ‘k„v$Nu rkhpe“p rb“ kgpds g¡Zv$pfp¡“¡ Q|L$h¡g fL$d ‘f 2% C.i¡f lp¡ëX$fp¡“u 
L$pev$¡kf“u h^ydp„ h^y S>hpbv$pfudp„’u ’e¡gu bQs ‘f 25%.



RAN-0037 ]	 [ 8 ]	 [ Contd.

		  (3)	 rdgL$sp¡“p„ D‘S>ep :

			   S>du“-dL$p“	  ê$p.4,70,000

			   õV$p¡L$  	 ê$p.30,000

		  (4)	AÞe g¡Zv$pfp¡dp„ kdpe¡g R>¡.

			   (A) L$d®Qpfu fplº“¡ v$f drl“¡ ê$p.9000 g¡M¡ ÓZ dpk“p¡ ‘Npf ê$p.27,000.

			   (b) L$d®Qpfu L¡$sy“¡ v$f drl“¡ ê$p.4000 g¡M¡ R> dpk“p¡ ‘Npf ê$p.24,000.

			   (L$) L$d®Qpfu ir““¡ v$f drl“¡ ê$p.7,000 g¡M¡ b¡ dpk“p¡ ‘Npf ê$p.14,000.

			   (X$) L$d®Qpfu hudp ep¡S>“p„ l¡W$m apmp¡ ê$p.6,000.

			   (B) L$pdv$pfp¡“y„ âp¡rhX$ÞX$ a„X$ ê$p.24,000.

		  (5)	â¡afÞk i¡f ‘f A¡L$ hj®“y„ qX$rhX$ÞX$ Q|L$hhp“y„ bpL$u R>¡.

		  (6)	b^p S> Q|L$hZu sp.31.01.2019 “p„ fp¡S> L$fhpdp„ Aphu lsu.

		  D‘f“u rhNsp¡ ‘f’u L„$‘“u 31.12.2018 “p„ fp¡S> õh¡[ÃR>L$ aX$Qpdp„ NC s¡d dp“u 
rg[¼hX¡$V$f“y„ AphL$-ÅhL$“y„ ‘ÓL$ s¥epf L$fp¡.

4.		  deyf rg.“y„ sp.31.3.2018 “p„ fp¡S>“y„ L$pQy„ kfh¥ey„ “uQ¡ dyS>b R>¡.	 22

D^pf bpL$u ê$p. S>dp bpL$u ê$p.
dL$p“p¡ 2,90,000 h¡QpZ 5,20,000
diu“fu 1,00,000 Q|L$hhp“p bpL$u MQp® 2,000
ApMf õV$p¡L$ 90,000 Opg. A“p. Å¡NhpB  

(1-04-17)
3,000

ìeh[õ’s Mfuv$u 2,10,000 C[¼hV$u i¡fd|X$u 2,00,000
‘Npf 60,000 kpdpÞe A“pds 40,000
qX$f¡¼V$f au 10,000 “ap “yL$kp“ Mpsy 

(1.4.17)
25,000

cpXy„$ 26,000 g¡Zv$pfp¡ 92,000
Okpfp¡ 20,000 Okpfp“u Å¡NhpC :
OpgMp^ 6,000 dL$p“ ‘f 50,000
fp¡L$pZ ‘f QY¡$g ìepS> 2,000 diu“fu ‘f 56,000 1,06,000
dpê$s rg.“p„ i¡f 1,20,000 14%“p„ qX$b¢Qf 2,00,000
qX$b¢Qf ìepS> 28,000 qX$b¢Qf ‘f QY¡$g ‘f„sy v$¡hy
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R|>V$p Ap¡Åf 23,000 “l] ’e¡g ìepS> 14,000
A¡X$hpÞk V$¡n 60,000 fp¡L$pZ ‘f ìepS> 12,000
‘fQ|fZ MQ® 18,000 “tl d„Nph¡g qX$rhX$ÞX$ 5,000
v$¡hpv$pfp¡ 1,25,000 AphL$h¡fp“u Å¡NhpC 

(2016-17)
30,000

ANpD’u Q|L$h¡g
AphL$h¡fp¡ (2016-17)

30,000 hV$ph¡gy„ ‘f„sy “l] ‘pL¡$g

b¢L$ rkgL$ 30,000 g¡Zu lŸ„X$uAp¡ ê$p.10,000
12,48,000 12,48,000

		  h^pfp“u dprlsu :

		  (1)	ApMf õV$p¡L$ iê$Aps“p„ õV$p¡L$’u ê$p.80,000 h^y R>¡.

		  (2)	i„L$põ‘v$ v$¡hp dpV¡$ 4% Å¡NhpC L$fhp“u R>¡.

		  (3)	� Qpgy hj® dpV¡$ 30% g¡M¡ AphL$h¡fp“u Å¡NhpC L$fhp“u R>¡. sp.31.03.2017“p„  
fp¡S> ‘|fp ’sp hj®“u AphL$h¡fp“u S>hpbv$pfu ê$p.30,000 R>¡.

		  (4)	Okpfp“u fL$ddp„ ê$p.8,000 dL$p“ ‘f A“¡ ê$p.12,000 diu“fu ‘f“p„ kdpe¡g R>¡.

		  (5)	� qX$f¡¼V$fp¡A¡ 25% g¡M¡ qX$rhX$ÞX$“u cgpdZ L$fu R>¡ A“¡ kpdpÞe A“pds dpV¡$  
10% g¡M¡ gC S>hp“p„ R>¡. (L$p¡‘p£f¡V$ qX$rhX$ÞX$ V¡$¼k“u 20% g¡M¡ ^pfZp„ L$fp¡)

		  s¥epf L$fp¡ -

		  (1)	31.03.2018 “p„ fp¡S> ‘|fp ’sp hj®“y„ “ap “yL$kp““y„ ‘ÓL$.

		  (2)	31.03.2018 “p„ fp¡S>“y„ L„$‘“u ^pfp¡ - 2013 “p„ ‘qfriô$-3 dyS>b“y„ ‘pLy„$ kfh¥ey„.

5.		  sp.31.03.2018 “p„ fp¡S>“y„ Qp„v$“u rg.“y„ ‘pLy„$ kfh¥ey„ “uQ¡ dyS>b R>¡.	 13

rhNs “p¢^ ê$p.
1) C[¼hV$u A“¡ S>hpbv$pfuAp¡ :
1) i¡f lp¡ëX$f “p„ c„X$p¡mp¡ :
	 (A) i¡fd|X$u :
	 CL$.i¡f v$f¡L$ ê$p.10 “p„ i¡fv$uW$ ê$p.9 cf‘pC 9,00,000

	 10% qfX$u.â¡a.i¡f v$f¡L$ ê$p.10 “p i¡fv$uW$ ê$p.8 cf‘pC 4,00,000

	 14% qfX$u.â¡a.i¡f v$f¡L$ ê$p.10 “p ‘|fp cf‘pC 3,00,000

	 (b) A“pds A“¡ h^pfp¡ :
	 kpdpÞe A“pds 15,00,000
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	 “ap “yL$kp“ Mpsy 50,000

	 Ådu“Nufu âurded 50,000

2) 	rb“ Qpgy v$¡hp : -

3) 	Qpgy v$¡hp :
	 g¡Zv$pfp¡ 2,50,000

Ly$g 34,50,000

2) 	rdgL$sp¡ :
(1) rb“ Qpgy rdgL$sp¡ :
	 (A) L$pedu rdgL$sp¡ (Öíe) : L$pedu rdgL$sp¡ 19,50,000

	 (b) rb“ Qpgy fp¡L$pZp¡ : fp¡L$pZp¡ 2,00,000

(2) Qpgy rdgL$sp¡ :
	 (A) fp¡L$X$ õhê$‘“u rdgL$s : b¢L$ 5,00,000

	 (b) AÞe Qpgy rdgL$s 8,00,000

Ly$g 34,50,000

		  L„$‘“u^pfp“u Å¡NhpC“y„ ‘pg“ L$ep® bpv$ 12%“u qfX$u$d¡bg â¡afÞk i¡fd|X$u 10% 
âurded¡ s’p 14% “p„ qfX$ud¡bg â¡afÞk i¡f 5% âurded¡ ‘fs L$fhp“y„ “½$u L$ey¯. 
fp¡L$pZp¡ ê$p.1,50,000 “u qL„$ds¡ h¢Qu v$u^p. R>¡hV$“u b¢L$ rkgL$ ê$p.50,000 fpMhp“u R>¡. 
b„“¡ âL$pf“p„ qfX$ud¡bg â¡afÞk i¡f ‘fs L$fhp“p„ l¡sy’u S>ê$f S>Zpe s¡V$gu k„¿epdp„ 
15% “p„ ¼ey.â¡a i¡f 10% âurded¡ blpf ‘pX$hp“y„ “½$u L$ey¯. Ðepfbpv$ s¡S> spfuM¡ 
2013 “p„ L„$‘“u^pfp“u Å¡NhpC“y„ ‘pg“ L$fu“¡ v$f b¡ C[¼hV$u i¡f v$uW$ A¡L$ bp¡“ki¡f 
Ap‘hp“p¡ R>¡.

		  Qp„v$“u rg.“p¡ Qp¡‘X¡$ S>ê$fu Apd“p¢^ gMp¡.

			   A’hp

5.		  V|„$L$“p¢^ gMp¡.

	 (1)	 i¡fv$$gpg A“¡ ‘¡V$pv$gpg.	 08

	 (2)	 fueg A¡õV¡$V$ X¡$hg‘k®.	 05

6.		  V|„$L$“p¢^ gMp¡. (Nd¡ s¡ ÓZ)	 12

		  (1)	A¡L$ ìe[¼s“u L„$‘“u.

		  (2)	d|X$u OV$pX$p A„N¡ L„$‘“u^pfp“u Å¡NhpCAp¡.

		  (3)	 qfX$ud¡bg â¡afÞk i¡f A„N¡ L„$‘“u^pfp“u Å¡NhpCAp¡.

		  (4)	Mp“Nu L„$‘“u.

		  (5)	i„ires v$¡hp„.
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English Version
Que.1		  Give the answer of following question:	 18
	 (a)	 The Heni Ltd has the following items, in its Balance sheet as on 31-03-2018.

Subscribed equity Share capital (each of Rs 10, Rs 8 paid up) 200000
General reserve 200000
Profit and loss A/c 100000

		  Decided that to issue Bonus share at Rs 10 each at a premium of 25% on  
the basic at one equity share for every five equity share held. As per  
company Act, write journal entries for bonus share.

	 (b)	 After making the payment to the debenture holder, the liquidator has  
balance of Rs 1, 29, 030 on his hand, unsecured creditors are Rs 1,65,000. 
The liquidator is entitled to get 2% commission on amount paid to unsecured 
creditors. Compute liquidators remuneration and amount paid to creditors.

	 c)	 Directors have agreed to accept 65% of their claims in the form of equity  
share and 20% in cash and they have waived the remaining amount of  
Rs 26,250 write journal entry for capital reduction.

	 d)	 X Ltd wants to redeem its 1000 12% red pref share of Rs 100 each Rs 80  
paid at 10% premium the ledger account show the following balance.

Securities premium 2000
Bank balance 30000
Profit- Loss A/c 20000

		  The directors redeemed the preference share by making minimum fresh  
issue of equity share of Rs 10 each at 10% premium.

	 e)	 State the objective of bonus share.
	 f)	 The following balances are extracted from the trial balance of Kanha Ltd 
		  as on 31-03-2018.

Particulars Dr. ( Rs) Cr.(Rs)
Provision for Income Tax ( 1-4-2017) - 20000
Advance Payment of I. Tax ( 1-4-2017) 15000 -
Advance Payment of I. Tax ( current year) 20000 -
Income Tax deducted at source 1500 2500
Profit loss A/c ( 1-4-2017) - 30000

		  Assessment in respect of Income tax of previous year 2016-17 was computed 
during the current year and income tax liability of Rs 22000 has been 
determined. Current year profit of the company was Rs 50000 and company 
pays income tax at the rate of 50%.
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		  From the above particulars prepare P and L A/c and balance sheet as per 
companies Act , 2013.

2.		  The following were Balance sheet of Het Ltd and Preet Ltd as on 31-03-2018.	 15

Particulars Note Het. Ltd 
(Rs)

Preet Ltd 
(Rs)

(I) Equity and Liabilities:
(1) Share holder’s Funds:
a) 	Share capital 
	 E. shares each of Rs 100. Fully paid 
	 6% pref. share Rs. 100 peach F.paid.
b) 	Reserves and Surplus:
	 General reserve
	 Workers accident comp. Fund

	
	

5,00,000
2,50,000

-
-

2,50,000
-

60,000
40,000

(2) Non-current Liabilities:
a)	 Long term borrowing:
 	 10% Debentures
b) 	Other Long term Borrowing:
 	 Bank loan

1,00,000

75,000

-

-
(3) Current Liabilities:
a)	 Trade Payable : Creditors 75,000 50000

Total 10,00,000 4,00,000
(II) Assets:
(1) Noncurrent Assets:
	 a)	 Fixed Assets ( Fangible)
		  Land –Building
		  Machinery
	 b)	 Fixed assets ( Intangible)
		  Goodwill
	 c)	 Noncurrent Investment
	 d)	 Other noncurrent Assets:
		  Profit and Loss A/c

150000
300000
50000

50000

75000

50,000
1,50,000

10,000

-

-
(2) Current Assets:
	 a) Inventories Stock
	 b) Trade receivable Debtors
	 c) Cash Equivalents Asset – cash
	 d) Other current Asset – 		
	      Preliminary Exp

1,25,000
1,50,000

85,000
15000

75000
1.00,000

15000
-

10,00,000 4,00,000
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		  On the above data both the company decided to amalgamate and form a 
new company Mamta Ltd. with an authorized capital of Rs 12, 50,000. 
devided in to 10000 equity shares and 2,500 10% pref. shares of Rs 100 
.each assets and liabilities of both the companies are to be taken over 
expect investment of Het/Ltd and cash balance of Rs 5,000 of Preet ltd. 
The market value of fixed assets of both the companies to be taken at 20% 
more than book value.

		  Condition of Payment:
	 1.	 The equity share of both the companies will be given 6 fully paid equity 

shares of Mamta Ltd for every five equity share held by them at premium 
of 10%.

	 2.	 The Pref shareholder of Het Ltd will be given 04 fully paid pref. share of 
Mamta Ltd for every five pref. shares held by them and Rs 25,000 cash.

	 3.	 The debenture holder of Het Ltd. will be given 12% debenture of Mamta 
ltd at a discount of 10% to discharge their liability at 8% premium.

	 4.	 Rs 7000 given cash to Het Ltd.
 		  Mamta Ltd issued the remaining equity shares to the public at a premium of 

Rs 20 per share, which were fully paid up preliminary expenses amounted 
to Rs 5000.

		  Pass entries in the books of Mamta Ltd. And prepare its Balance sheet as 
per company act 2013.	
		

OR

2.		  Bhavya Ltd has agreed to acquire good will and other assets 	 15 
(except investment) of Jay Ltd on 31-03-2018 the balance sheet of  
Jay Ltd. On that day is as follows:

Particulars Note Rs
(I) 	 Equity and Liabilities:
	 (1) Share holder’s Funds:
a)	 Share capital – Eq share of Rs 10 each.
b)	 Reserve and Surplus:
	 General reserve
	 Profit and loss A/c.

1,20,000

18,750
13,500

(2) Non- Current Liabilities:
8% Debentures

45000

(3) Current Liabilities:
a) Trade Payable – creditors
b) Short term provision : Provision for Taxation

27750 
15000

Total 2,40,000
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(II) Assets:
1.	 Non –current Assets:
	 a) Fixed assets.
 i) Tangible assets – Land – Building
 	 Machineries
ii)	 In tangible assets : Goodwill
2.	 Non – current Investments: Investment

60,000
60000
15000
22500

2.	 Current Assets:
a)	 Inventories – Stock
b)	 Trade receivable – Debtors
c)	 Cash equivalents-Bank

30000
37500
15000

Total 2,40,000

		  Bhavya Ltd absorved Jay Ltd on following condition: Bhavya Ltd will….

	 1.	 Discharge the old debenture at 8% premium by issue of 16% new  
debenture at 10% discount.

	 2.	 Issue 3 Equity shares of Bhavya Ltd at market price of Rs 11. For 2 equity  
share of Jay Ltd.

	 3.	 Pay Rs 2 in cash for every share of Jay Ltd.

	 4.	 Pay absorption Expenses of Rs 3,000.

	 5.	 Jay Ltd sold investments for Rs 24,000. 1/3 of the share received from  
Bhavya Ltd are sold at Rs 10.50 each

		  Tax Liabilities are determined at Rs 18000.

		  Bhavya Ltd. Valued Land and building 25% more and machinery 20%  
below the book value stock at Rs 26,250 and debtors subject to 5%  
provision for doubtful debts.

		  Prepare in the books of Jay Ltd…..

		  1.	 Realisation account

		  2.	 Bank account

		  3.	 Share holders account and pass journal entries in the books of Bhavya Ltd.
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3. 		  Following balances appeared in the books of Paramanand Ltd as on	 20  
31-03-2018.

Debit Balance Rs Credit Balance Rs
Good will 300000 7% cumulative 

Preterence share of 
Rs 100 F paid

1200000

Land – Building 1440000 Equity share of Rs 
10 each fully paid

1400000

Plant- Machinery 1320000 8% debentures 1200000
Investments 144000 Debenture interest 

due
48000

Current assets 2064000 Loan from directors 240000
Profit – Loss A/c 1020000 Current liabilities 1200000

6288000 6288000

		  Note: 

		  1. 	� Claims of damages against the company pending in the court of law  
amounted Rs 120000.

		  2.	� Arrears of Pref. share dividend for one year. 

			   A scheme of capital reduction as approved by the court was a follows:

	 1.	 Reduce the pref share capital and equity share capital.
	 2.	 Pref shareholder waived half of the arrears of dividend and for remaing  

amount issue necessary number of new equity share after capital reduction.
	 3.	 Debenture holders agreed to take over part of the land and building having  

book value Rs 432000 at Rs 600000 and 144000 equity share of new value  
of each share issued to them for the balance.

	 4.	 Debenture holders waived their interest due on debentures.
	 5.	 The claims for damage pending in the court of law were settled by issue  

14400. Equity share of new value of each fully paid.
	 6.	 Directors converted their loan in to 96000 equity share in the same  

amount at near per share value of share.
	 7.	 All intangible and ficitious assets were written off.
	 8.	 The assets were revalued as under.
		  Machinery Rs 8, 40,000 investments Rs 120000.
	 9.	 Following journal entry appear in the books of company for the balance of 

capital reduction account and transfer to capital reserve.
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		  Capital Reduction A/c Dr. 5, 94000

		  To capital reserve A/c 594000

		  From the above information pass necessary journal entries in the books of 
company and prepare balance sheet as per companies act, 2013 after capital 
reduction.

OR

3.		  Balance sheet of Roshan Ltd .as on 31-12-2018 is as under	 20

Particulars Note Rs
(I) Equity and Liabilities:
(1) Share holders Fund:
(a) Share capital
12% pref share capital
2000 ‘A’ equity share of Rs 50 each paid Rs 25.
4000 ‘B’ eq. share of Rs 20 each paid Rs 8.
2000 ‘C’ eq. share of Rs 10 each paid Rs 6
B)Reserve and surplus:

100000
50000
32000
12000

-
(2) Noncurrent Liabilities:
(a) Long term borrowings (12% Debenture)
(3) Current Liabilities:
(a) Trade payable – creditors (mortaged on stock) 
     Other creditors
(b) Other current liabilities 
	 in paid interest on debentures

150000

30000
224000

9000

Total 6,07,000
(II) Assets:
(1) Non – current Assets:
a) Fixed assets (Tangible) Land building
b) Other non-current assets – profit loss a/c
(2) Current Assets:
a) Inventories – stock
b) Cash Equivalents- cash

530000
27500

22000
27500

Total 6,07,000

	 1.	 Liquidation expense Rs 3120

	 2.	 Remuneration to Liquidator:

		  1/5 % on the assets realized other than cash.

		  2% on amount paid to unsecured creditors except preferential creditors.

		  25% on saving realized from maximum legal liabilities of equity share holder.
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	 3.	 Assets realized:

Land –Building 470000
Stock 30000

	 4. 	 The above other creditors include the following:

a) Three months salary salary at Rs 90000 per month of Rahu Rs 27000
b) Six month salary at Rs 4000 pm of employee Ketu Rs 24000
c) Two months salary at Rs 7000 pm of employee Shani Rs 14000
d) Contribution under employs insurance scheme Rs 6000
e) Workman’s provident fund Rs 24000

	 5.	  Dividend on pref share in arrears for one year.

	 6.	 All payments were made on 31-01-2019.

		  On the basis of above particulars prepare the receipts and payment  
statement of liquidator assuming that the company went in to voluntary 
liquidation on 31-12-2018.

4.		  The following is the Trial balance of Mayur Ltd as on 31-03-2018.	 22

Debit Balance Rs Credit Balance Rs

Building 290000 Sales 520000

Machinery 100000 Outstanding expenses 2000

Closing stock 90000 Provision for doutfull debt 
( 1-04-2017)

3000

Adjusted purchase 210000 Equity share capital 200000

Salaries 60000 General reserve 40000

Directors fees 10000 Profit –Loss A/c ( 1-04-2017) 25000

Rent 26000 creditors 92000

Depreciation 20000 Provision for depreciation
On Building 50000
Om machinery 56000

106000

Bad-debts 6000 14% Debenture 200000

Interest accured on 
investment

2000 Interest on debentures 
accrued but not due

14000

Share of marut ltd 120000 Interest on investments 12000

Debenture interest 28000 Unclaimed dividend 5000
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Loose tools 23000 Income tax provision
(2016-17)

30000

Advance tax 60000 Bills discounted but not yet 
matured Rs 10000

Sundry expenses 18000

Debtors 125000

Advance tax paid
 (2016-17)

30000

Bank 30000

1248000 1248000

		  Additional Information:

	 1.	 Closing stock is more than opening stock by Rs 80000.

	 2.	 Provide for doutfull debt at 4% on debtors.

	 3.	 Make a provision for Income Tax at 30% for the current year. The income  
tax liabilities for the year ending 31-03-2017 is Rs 30000.

	 4.	 Depreciation expenses includes depreciation of Rs 8000 on building and  
that Rs 12000 on machinery.

	 5.	 The directors recommend a dividend at 25% and transfer to general  
reserve at 10% (Assume corporate dividend tax at 20%.)

		  Prepare (1) statement of profit and loss for the year ended 31-03-2018.

		  (2) Balance sheet in the prescribed form as at 31-03-2018 as per schedule III  
of companies Act 2013.

5.		  Following is the balance sheet of Chandni Ltd as on 31-03-2018.	 13

Particulars Note Rs
(I) Equity and Liabilities:
(1) Share holder fund:
a) Share capital:
Eq. share of Rs 10 each paid up Rs 9 each.
12% red pref share of Rs 10 , each paid up for 
Rs 8 each.
14% red perf share of Rs 10 each fully paid up

900000
400000

300000
b) Reserve and surplus:
	 General reserve
	 Profit – loss A/c
	 Securities premium

1500000
50000
50000



RAN-0037 ]	 [ 19 ]	 [ 1640 ]

(2) Noncurrent Liabilities -
(3) Current – Liabilities
	 Creditors 250000

Total 3450000
(II) Assets:
(1) Noncurrent Assets:
	 a) Fixed Assets ( Tangible) Fixed assets
	 b) Non- current Investments
(2) Current Assets:
	 a) Cash Equivalents: Bank
	 b) Other current assets

1950000
200000

500000
800000

Total 3450000

		  It was decided to redeem 12% Red pref share at a premium of 10% and 14% 
red pref share at a premium of 5% on the data of balance sheet after complying 
with necessary provision of company act. Investment were sold at Rs 150000. 
Bank balance to be maintained in the business is Rs 50000. For this purpose 
15% cumulative preference share were issued at a premium of 10% in adequate 
number.

		  Afterward on the same date one bonus share for two equity share held to be 
given after complaying with necessary provision of companies act 2013.

OR

5.		  Write short notes:

	 1. 	 Stock Broker and Sub broker.	 08

	 2. 	 Real Estate Developers.	 05

6. 		  Write short notes: (any three)	 12

	 1. 	 One person company

	 2. 	 Provision of company Act for capital reduction.

	 3. 	 Provision of company Act for redemption of redeemable preference share.

	 4. 	 Private company

	 5. 	 Contingent liabilities.


